Welch’s Centripetal Force Apparatus (1D50.50)
Location: 15-2R
Concept: Central Forces
Procedure/Explanation: A mass is attached to a horizontal spring that in turn is attached to a vertical rotating rod. The mass is stretched to a reference point by means of a string and pulley system. The force needed to stretch the spring to the reference point is obtained by multiplying 9.8 times the mass attached to the pulley system. The pulley system is then disengaged and the rotating rod set in motion. When the mass reaches the reference point again the centripetal force is known and the velocity can be calculated: F = m * v2 
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